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1954 o #JE 2 (SMTC Jr)18.

18215 2 4 (SMTC Jr)18.
19048 A A1 3 (SMTC Jr)19.

201 = &K FHF 4 (thbhkAAC)20.

( -2.1 m)

S1THTFIFE EANS (TA)= kAT,
19245 M BE Kk 3 (SMTC Jr)17.
1935 W B5 7k 3 (SMTC Jr)17.
1945, )11 23 (SMTC Jr)17.
3201 Rk K2 (TAV—=PXT)18.
320 2 L2 Ok b kg k)19,
334FE + K4 Ok b ke k)21,
1707
( +0.4 m)

27=8 & &5 (bRAAC)I6.

166/ 2  H 6 (SMTC ] r)16.
22878 & T 5 (IThRAAC)16.
1754 & 24 (SMTC Jr)17.
30k T HE4 R kg )T
1844 &K i K4 (SMTC Jr)l17.

231 3% PeKEAS (I0hRAAC)18.
238% i EiE4 (TbRAAC)18.
( -0.1 m)

258 16 PEKER 4 CkFELEY 77)16.
188K & 7444 (SMTC Jr)16.
1MEMB K#5(SMTC Jr)l6.
2000 B Hize5 (T F kK +)16.
17910 & BE 4 (SMTC Jr)16.
20477 F AIER 6 (T F Kk )17
S14E e K4 (T A=K7,

121U AR M K5 (TAV=FAPTT.
( +0. 1 m)
16710 9 % K6 (SMTC Jr)13.

25110 N K6 CkTlels77)13.
254 FERER 6 ChTlEEs 5 7)14.
124K —#5 (SMTC Jr)l4.
169/ #&  J& th 6 (SMTC ] r)15.
25245 [ MR B 6 kL T7)15.
3235 (L AT PE 5 Ok (b B k)15,
324 |- %

11
317
57
84
10
86

2]
63
A
91
99
02
08

W& 6 (SMTC Jr)RiS

01
34
o4
21
22
98
04
69

14
14
28
43
93
01
01
30

61
19
22
13
00
11
92

J& 2+ 5 OK 1l B b)) Ri5

[248]
1[0 7]
2[ 5]
3[ 6]
4[ 4]
5[0 3]
6 2]

[4#8]
1[ 3]
2[ 5]
3[ 7]
4[ 1]
5[ 8]
6[ 2]
70 4]
[ 6]
[648]
1[ 4]
2[ 5]
3[ 6]
4[ 8]
5[ 1]
6[ 2]
70 3]
8[ 7]

[8#H]
1[ 3]
2[ 6]
3[ 5]
4[ 8]
5[ 7]
6[ 2]
70 1]
[ 4]

D AN
L
[ ARy e |

u—y

[co Tt N e PRy IR NSO\ )

1724

25212 fif]

B A AL —2:04/29 10:45

( -2.0
244 7% K5
181/% I
176 L
333 T
243 H

m)
T #H3 (thRAAC)18.14
B HE4 (SMTC Jr)18.53
g /4 (SMTC Jr)19.53
g 2 CK 1 pE 1) 20. 63
7 — 3 (ThbRAAC)20.70
2475 B T A1 (CHbRAAC)21.24

( -1.8 m)

3297 Z2 HE K4 K 1y B2 £)17.09
180K #n1 ¥R 4 (SMTC Jr)17.11
19N A B 5 (T F Kk 1)17.34
1834 A & N4 (SMTC Jr)17.42
203% # M4 (T F Kk 7)18.31
2395 % s K4 (2HRAAC)19.08
1878 A — E 4 (SMTC Jr)19.09
2401 ¥ B K4 (ITHhRAAC)RIE
( -0.8
23778 Kt
2325
242 = %%
177K JE
313 1 5
22975 F
2355F &

m)
M4 (TbRAAC)16.51
K B4 (biRAAC)16.67
B4 (IChiAAC)16. 81
e 4 (SMTC Jr)16.83
% K4 (7TA)—h*+)16.99
PS5 (IChRAUAC)TT. 15
— 4 (IZHRAAC)1T. 3T
17435 #k %% K4 (SMTC Jr)18.19
( -0.6 m)

205%27% NI 6 (T F >k +)15.58
1734 7 K Fn4 (SMTC Jr)16.11

2023 W EL K4 (T F >k +)16.17
322t~ & ke OK i k2 1)16.26

201%8 B B4 (T F %k 1)16.79
207% % LR 4 (T F 2k +)16. 81
331k M % H3 Ok F)17.00
325 - F s Ok b ke b)) RIG

&

16710/ B K6 (SMTC Jr)13.61 +0.
251 LN #r K6 CkrlEEYZ 77)13.79 +0.
2541 FERBR 6 CkflEEY 77)14.22 +0.
— #5 (SMTC J r)14.73 +0.
169/ Ak JE 6 (SMTC J r)15.00 +0.
Ck+FE L7 77)15.11 +0.
2057/ HEKEI6 (T F >k +)15.58 -0.
323FK5 (L AT PS5 (K b R 1)15.92 +0.

% 25 6

IS

O o T T G G G G —y



INBZEEBRF 1000m REEQKA)

(1#8]

1[0 3] 228k
2[ 6] 2064
3[11] 178%F
4[ 1] 2325

7012] 1945 )1

% 5 (ICHRAAC)3:40.70

BT
i B1E4(T F K +)3:48.22
H

BE 4 (SMTC Jr)3:53.92
KB4 (b AAC)3:54.94
5[ 5] 207%pE LKEH4 (T F 2k 4)3:55.21
6[10] 1734 & K F14 (SMTC Jr)4:00.03

g3 (SMTC Jr)4:10.29

8[ 9] 246 % &AM 3 (ILHRAAC)4:10.30
9 2] 231H:% PERHI5 (THARAAC)AITT. 41
100 4] 334%E v KB4 O 11 B 1)4:50. 54

[ 7] 2393 i3

mK4 (IThRAAC)RIE

[ 8] 240 % B K4 (ITHRAAC)RIG

4> AN
=)

1 323% 1L
2355 &
228 i
1M&E |
3221 T
206 & H
3304 R
313 ki

0 Jd O Ol wWwdN

IS Ok b fE B)3:
— 4 (IR AAC)3:
:40.70
:41.05
147. 84
148.22

a4k Wk )3
R4 TAY—FET)3:

T b5 (ThbrAAC)S
K#5(SMTC Jr)3

te Ok i FE )3
BE4(T F %k )3

28. 41
38. 89

50. 87
90. 95

[248]
1[ 2]
20 7]
3[10]
4 8]
5[0 1]
6 3]
70 4]
8[ 5]
9[ 6]
[ 9]

PRf5:04/29 13:15

323H5 (L AT PS5 Ok b B2 F)3:28.41
2358 A — Y4 (ThbRAAC)3:38.89
17135 B K#5 (SMTC Jr)3:41.05
322fx F b6 (K L F)3:47.84
33042~ EE4 Ok b B [)3:50.87
3B L %k K4 (FAV—hkT7)3:50.95
205%Z2 KA 6 (T F Kk )3:53.25
21=B &5 (bhAAC)S3:59.02
22075 K S ES5 (thRAAC)4:04.74
16838 M ¥16 (SMTC Jr)Ri5



INFESF ERBE R

1014]
2[ 4]
3[13]
4[ 5]
5[ 9]
6[ 6]
710 2]
8[ 8]
9[12]
10[ 7]
11[11]
121 3]
13[ 1]

[10]

2524 ] MR E 6 CkThELEYT7)
1754 & =24 (SMTC Jr)
221= 8 & #5 (WbRhAAC)
18445 A i K 4 (SMTC Jr)
20477/ F fHEE 6 (T F kK +)
1TTARE meFh4 (SMTC Jr)
3121 R K5 (TA)—=hkT)
1788 1 BE4 (SMTC Jr)
2307 H & 2} 5 (IThRAAC)
1745 K % K4 (SMTC Jr)
242 = % 4 (ThRAAC)
18278 B 54 (SMTC Jr)
313 % K4 (TA)—-hkT)

3m76 +2. 37852 3m68 +0.4
3m29 +0.5
3m29 +1.1
3m22 0.4
3m22 +1.4
3m07 +1.8
2m96 +2. 47858 2m90 +0.8
2m93 +0.5
2m79 +0.9
2m65 -0. 4
2mb4 +0. 8
2m33 -0.5
2m31 +1.0

16844 H 16 (SMTC Jr)Ri%

Pfs04/29 09:00



INFEZF 100m REFERXALL—X (5#f)

WBs A A AL —2:04/29 11:15

[148] ( +1.5 m) [248] ( -1.1 m)
10 1] 2058k W #84 (T F >k 1)17.48 1L 17Tk & 25 (SMTC Jr)16.70
2[ 4] 331fx K  FE5 (PRIDE AC)17.61 2[ 2] 164/ E & %36 (SMTC Jr)16.75
3[ 6] 203M¥s EEJh4 (T F Kk 1)18.24 3[ 8] 165%2 & & %6 (SMTC Jr)17.17
A[ 7] 332k A F (K3 (PRIDE AC)18.72 4[ 5] 202£ H Hh7k 5 (T F %k 1)17.33
5[ 3] 3145 (L fb A2 Ok 1 fE 1)18.96 5[ 6] 1983 i {(EFIS5 (T F %k 7)17.64
6[ 2] 2225 M @ 9 3 (THRAAC)19.86 [ 3] 238730 s fE3 CkTIELY 77) Ri%
70 8] 177 3 {23 (SMTC Jr)20.39 [ 4] 307/ & fE &6 (K I FE k) RIG
8[ 5] 225=4% L ¥ 1 (THRAAC)21.09 [ 7] 1667 W £ %56 (SMTC ] r)Ri5H
[3%#H]) ( 0.1 m) [448] ( +2.3 m)
104 191 B & A6 (T F Xk 1)15.49 104] 1950 1k {6 (T F 2k 1)14.92
2[ 8] 197 H# 5 (T F >k 1)16.15 2[ 5] 192:58H < 546 (T F >k 7)14.93
3[ 71 170#%11 &< 55 (SMTC Jr)16.39 3[ 3] 308 A& A We6 Ok 1 fE F)14.99
41 5] 1694% #b & + 5 (SMTC Jr)16.68 47 2] 1607 8 5 46 (SMTC Jr)15.02
50 6] 30514 F HAES (TAY—-1%T1)16.72 5[ 6] 1964k F E#E6 (T F >k 1)15.30
6[ 2] 201KWg #EEF5(T F Kk 1)16.77 6[ 71 199)50 @5 %~ {5 (T F Kk 1)15.70
70 31 174F9 fify #& £ 4 (SMTC Jr)16.85 70 8] 1684 M f@m ¥ 5 (SMTC Jr)16.35
[ 1] 204%= H pKES (T F K 1) RIG
[5#8] (  +1.5 m) '\%\\é\l

10 3] 194%H E446 (T F kK 1)14.76
2[ 4] 1624 # K6 (SMTC Jr)15.00
3[ 6] 22045 1 # HE 5 (IKHeAAC)15.14
40 5] 163/ & 2 # WL 6 (SMTC Jr)15.36
50 1] 161 A& Z 86 (SMTC Jr)15.82
6[ 7] 3101LAR EE51 6 Ok 1L FE 1)15.90
70 2] 30978 %22 FE £ 6 (K 1 kg £)15.90

1 194 %H M6 (T F K 1)14.76 +1.
19539 1 #E (6 (T F Kk +)14.92 +2.
192;8H < 5#46 (T F kX 1)14.93 +2.
308 A A me6 (K L BE £)14.99 +2.
1624 % %6 (SMTC Jr)15.00 +1.
16075 30 f5 46 (SMTC J r)15.02 +2.
22084 1 #PHES (1B AAC)15.14 +1.
1964k * & #HE6 (T F Kk 1)15.30 +2.

0 ~J o 1Tk WwDN
W OC1T WO WWwW o



INBELZF 80 0m R

10 1]
2[ 2]
3[ 5]
41 4]
5[ 6]
6[ 3]

190%% M ZEH6 (T F Kk 1)2:48.05
1632 37 & M. 6 (SMTC ] r)2:50.50
193RI #zc6 (T F 2k 1)2:51.51
16825 M f@m ¥ 5 (SMTC Jr)3:02.53
2022 4 Hik5 (T F 3k +)3:06.17
30511 F HE 35 (FTAY—FKF)3:12.53

s 04/29 13:30



INFERZF ERBE R

1011]
1012]
3[10]
4[ 3]
5[ 4]
6[ 8]
1 7]
8[ 9]
9[ 5]
10[ 6]
11[ 1]

[ 2]

2203 H  # HE 5 (ITHRAAC)
308 A Ay mee Ok b ke k)
1964k £ EHE6 (T F K 1)
1998 B 2~ 5 (T F Kk )
30978 22 F L6 Ok b ke k)
1615k Z 76 (SMTC Jr)
310 1LAR 76 Ok b B k)
20008 H fE6 (T F %k +)
1MA F  Z5(SMTC Jr)
164 & ZEFE6 (SMTC Jr)
3314y A FE5 (PRIDE AC)

3m97 +1.1

3m97 +2. 1 nEREEERT L
3m80 +1.6

3m35 +0. 2

3m31 +0.6

3m24 +3. 37252 3m20 -0.2
3m10 +1.1

3m07 +2. 87258 2m87 +1.7
2m98 +1.2

2m93 +1.8

2m68 +2. 6252 2mb6 0.0

33248 A FEK 3 (PRIDE AC)ER8R% L

Pfs04/29 09:00



ek MR, Okg] R

1011 608 W # 73 (& A& H)12m90

PRfs04/29 11:00



